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SECTION -1 (MAXIMUM MARKS: 12)
This section contains FOUR (04) question stems.
Each question has FOUR options (A), (B), (C) and (D). ONLY ONE of'these four options is the correct
answer.
For each question, choose the option corresponding to the correct answer.

Answer to each question will be evaluated according to the following marking scheme:

Full Marks : +3 ONLY the correct option is chosen;
Zero Marks : 0 Ifnone of the options is chosen (i.e. the question is unanswered);
Negative Marks : —1 In all other cases.

1. Let x, be the real number such that €™ + x, = 0. For a given real number o, define

g(x) _ Ixe* +3x—ae* —ox
3(eX + 1)

for all real numbers x.

Then which one of the following statements is TRUE?

g(x)+e®

X—X,

(A) For o= 2. 1im |80

X—=>Xp X — XO

=0 (B) Foraa =2, lim

g(x)+e®
X-X,

, xX)+e¥ | 2
=0 (D) For o =3, lim e(x) =3

(C) Fora =3, lim
X=Xy X— XO

A AT o x| a8 areifde et (real number) 8 fb €™ +x, =0 8 | =01 & 7 Uep araifdes W=l o, el

3xe* +3x—ae* -

OX R R |
3(e"+1)

) IR<Ifaep A8 X B oI g(x):

aq fr=feifad womT # W BiF A1 U Hd T 272

(A) o =2 @ forg, lim g()+e"| s B) o =2 B, lim (£

XX, X—X, X—Xp X —X,

(C) =3 frg, 1img(x)—+60=o% (D)a=36%%|q,)}i_>1?g’(x)—+‘3u:%

XX, X —X, X=X,
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Ans.

oc(eX +x)

Sol. g("ﬁ*m

() =1 (e"+1)2—(ex+x)-eX
g( )_1 3 (ex+1)2

g'(x ):1_2 M
’ 3 (eXO+1)2
g'(xo)zl_%

g(x)+e"

X=X,

Iim

X—Xg

)
0
Using 'Hospital Rule

= lim

X—Xg

#‘ =l'(x,)

:‘1_ﬂ
3

foro=3=L=0

2. Let R denote the set of all real numbers. Then the area of the region
{(X,y)eRxR:X>O,y >%,5X—4y—1>0,4x+4y—17<0}
is:
A forg fos R ) arafaes Saiali (real numbers) @ THzad (set) 1 S1id € | T4 &7 (region)
{(X,y)eRxR:X>O,y >%,5X—4y—1>0,4x+4y—17<0}

P TADA (area) T
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Ans.

Sol.

17 33 57 17
(A) E—loge4 (B) ?—loge4 ©) ?—loge4 (D) 7—loge4

B

A= ﬁ —/n4
8
: ) 5 1 ., 6tan6 ).
3. The total number of real solutions of the equation 6 = tan (2 tan 9) ——sin" | ———— |18
2 9+tan” 0
. . . . . . T m T T
(Here, the inverse trigonometric functions sin'x and tan™'x assume values in {—5 E} and (— > Ej ,
respectively)
IR (equation) @ = tan (2tan0) - lsjn*1 (mj & Pl dIKAdD Bell Bl T (total number of
2 9+tan” 0
real solutions) &
(TET ufier oA wetHl, (inverse trigonometric functions) sin™'x eI tan™' X & AT HHA: {— g . g} IR
T T .
SR
( 2 zj )
(A) 1 (B) 2 © 3 D) 5
Ans. C
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0= tan” (2tan0)— ~sin" | —~ > 2
Sol. 2 - tanej

tan O
Let —— =tan o
3
6=tan"' (2tan6)— %sinl (sin2a)

Case-]: 20 € (—ﬂ,—gj

tan o0 € (—o0,—1)

tan © c (—oo,—l)
3
tan 6 € (—0,-3)

0=tan" (2tan0)— %(—n —2a)

6—§ztan‘1 (2tan6)+a

i 2tan 0+ tan o
tan| 0—— | =

2) 1-2tanOtana
| 2tan 0 + 219
T and 1_2‘[an26
3
-1 7tan O

@an® 3—2tan’0
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5tan’0=-3

No solution.
20 € {—E E}

Case-II : 25

T T
ae|l——,—

i

tan 6 € [-3, 3]

O 1
6 =tan"' (2tan0) _5(200

_ 2tanO—tana

tanO =
1+2tanOtan o
5tan 0 ( tanej
tan0= ——— tano =
3+2tan’ 0 3
tan6=0 or tan’0=1

tan 0 ==1

3 solutions

T
Case-IIl : 20 € (EEJ

tan 6 € (3, )

6 =tan"' (2tan 9)—%(11 ~2a)

g+9=‘[an’1 (2tan6)+ o

T 2tan 0+ tan o
tan| —+0 | =

2

1-2tanOtana
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Ans.

Sol.

-1 7 tan O ( tanej
= tano =
tan® 3-2tan’0 3

5tan’0=-3

No solution
Total 3 solutions.

Let S denote the locus of the point of intersection of the pair of lines
4x -3y =12a,
4ox+3ay =12,
where o varies over the set of non-zero real numbers. Let T be the tangent to S passing through the

points (p, 0) and (0, q), q > 0, and parallel to the line 4x — 3 y =0. Thenthe value of pqis :

N

A AIRTY fs S, Xa1—g (pair of lines)

4x -3y =12aq,

4ox + 3oy = 12,
o nfcresed fa=g (point of intersection) & fa=guet (locus) B1 &= &, ST&! ¢, YR IRATdD TEII3AT (non-zero
real numbers) & T (set) W faaRd o= (varies on) 2 | 719 <ifoTg &5 T, 9% (curve) S TR 98 WRi—@1

(tangnet) 2 S fag311 (p, 0) 21 (0, q), q > 0, A ISR B, AR @ 4x —%y =0 & |ACR (parallel) 2 199 pq

PIAMAS

(A) —642 B) -3\2 (C) —9V2 D) —1242
A

4x -3y =120
12 =o (4x + 3y)

4x-3y 12
12 4x +3y

16x2 — 9y? = 144

2 2

XY

9 16

T:y=mx++v9m’-16
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42
m=——

3
T:y=¥x+4 (q>0)
p—>
J2
q=4

pq=-6v2

SECTION - 2 (MAXIMUM MARKS: 16)
This section contains FOUR (04) question stems.
Each question has FOUR options (A), (B), (C) and (D). ONE OR MORE THAN ONE of these four
option(s) is (are) correct answer(s).
For each question, choose the option(s) corresponding to (all) the correct answer(s).

Answer to each question will be evaluated according to the following marking scheme:

Full Marks :+4 ONLY if (all) the correct option(s) is(are) chosen;

Partial Marks : +3 If all the four options are correct but ONLY three options are chosen;

Partial Marks : +2 If three or more options are correct but ONLY two options are chosen, both of
which are correct;

Partial Marks : +1 If two or more options are correct but ONLY one option is chosen and it is
acorrect option;

Zero Marks : 0 Ifunanswered;

Negative Marks :—2 In all other cases.

For example, in a question, if (A), (B) and (D) are the ONLY three options corresponding to correct answers,
then

choosing ONLY (A), (B) and (D) will get +4 marks;

choosing ONLY (A) and (B) will get +2 marks;

choosing ONLY (A) and (D) will get +2marks;

choosing ONLY (B) and (D) will get +2 marks;
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Ans.

Sol.

choosing ONLY (A) will get +1 mark;
choosing ONLY (B) will get +1 mark;
choosing ONLY (D) will get +1 mark;
choosing no option(s) (i.€. the question is unanswered) will get 0 marks and choosing any other option(s) will

get -2 marks.

X
Let | = ((1) (l)j and P = (i (3)J LetQ= (z Zj for some non-zero real numbers x, y, and z, for which

there is a2 x 2 matrix R with all entries being non-zero real numbers, such that QR = RP.

Then which of the following statements is (are) TRUE?
(A) The determinant of Q— 2l is zero (B) The determinant of Q— 6l is 12
(C) The determinant of Q—3I1is 15 (D) yz=2

Hﬁ?fﬁﬁmﬁﬁlz(é ?},Gﬁ‘\’P:(é gj%IWW%WW(non-zero)aﬂﬁﬁfﬁmﬁ(rem

numbers) x, y 3R 2 3 g Q = C Zj & o farg wap 2 x 2 aars (matrix) R 2, fored) e faftet

(entries) TUTR IRIaD G &, @T QR =RP 2 |

a9 f=foRad wol § | Sra@) I 8 (©)?
(A) Q2] BRI (determinant) I (zero) B (B) Q — 61 &1 AR (determinant) 12 ¥

(C) Q- 3I &1 uRfG (determinant) 15 2 D)yz=2%
AB
R = a b
Let &= c d
QR = RP

X yla b) {a b)2 0
z 4)lc d) ¢ d)lo 3
axtcy=2a=>cy=a2—-x)

bx+dy=3b=dy=b(3—-x)

az+4c=2c = az=-2¢
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bz+4d=3d=bz=-d

E: a(2—x)
d b(3—x)

a 2c

b d

=x=1

cy - az=a(2—x)(-2c)

yz=-2(2-X)

yz=-2 = D (wrong)

X—A Yy
z

[Q-]= 4—1‘

=(x—-A)@-\)—yz
Q-Al=(1-A)@-1)+2

A=2=1Q-21=0 (A)—> (Right)
A=6=|Q-6I=12 (B) - (Right)
A=3=1]Q-31=0 (C) = (Wrong)

6. Let S denote the locus of the mid-points of those chords of the parabola y> =X, such that the area of the region
enclossed between the parabola and the chord is % . Let R denote the region lying in the first quadrant,

enclosed by the parabola y?> =x, the curve S, and the lines x= 1 and x=4.

Then which of the following statements is (are) TRUE?

) (4.43)es ®) (5.42)es
(C) AreaofR is %—2@ (D) Area of R is %—2\6

A IfSTY fos S, URaerd (parabola) y2 = x @1 39 @ Sitaiail (chord) @ Aeg—fI=gaii (mid-points) &1 fague

(locus) g, fS5T1a forg u=aera Ua Sitar gIRT iR & (region enclosed) @1 &% (area) % T |9 g foh R g

=rgenier (first quadrant) H I &7 &1 SLAA1 2, S WRderd y? = X, 95 (curve) S, AR @3l x = 1 d1x = 4 §RT
forT gom T |
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qq fR=ferRad st & 1 B @) aea g ©)?

) (4.43)es ®) (5.42)es

(C) R &1 &rpet %—2\/5% (D) R 1 &=t %—2\/5%
Ans. AC
Sol.  Equation of chord ABT=S§, A

(G,.K)

X+h
ky — —k>—h
g ( 2 j

x—2ky+2k*~h=0
=h-k*<0

For area interchangex & y

y—2kx+2k*-h=0& y=x?

o

><2—21<x+(21<2—11):0<B

oo =B = J4Kk2 —4(2K> —h) =4h—4K*

A= Bj( 2kx+h—2k?)- )dx=

o

4
3

(4h-4k’ )3
6

4
3

(4h—4k2)% =38

= (4h-4k*) =4 x=1 x=4
h-k*=1

(4,\/§)€S

MATRIX JEE ACADEMY
Office : Piprali Road, Sikar (Raj.) | Ph. 01572-241911

Website : www.matrixedu.in ; Email : smd@ matrixacademy.co.in

Page No. 11




M ATRIX Question Paper With Text Solution (Mathematics)
‘wm} JEE Adv. May 2025 | 18 May Paper-2

4

e |

1

=§(8—3\/§—1):%—2J§

7. Let P(x,, y,) and Q(x,, y,) be two distinct points on the ellipse

2 2
9 4

such thaty >0, andy, > 0. Let C denote the circle x* +y*> =9, and M be the point (3, 0). Suppose the line
x=x, intersects C at R, and the line x=x, intersects C at S, such that the y-coordinates of R and S are positive.

Let ZROM = g and ZSOM = g , where O denote the origin (0, 0). Let | XY| denote the length of the line

segment XY.
Then which of the following statements is (are) TRUE?

(A) The equation ofthe line joining P and Q is 2x + 3y =3 (1 +3 )

(B) The equation ofthe line joining P and Q is 2x+y=3 (1 3 )

(C) IFN, = (x,, 0). then 3[N_Q| =2]N_S|
(D) IfN, =(x,, 0), then 9N P| = 4N R|

A A fb P(x,, y,) IR Q(x,, y,), <TEigs (ellipse)

£+y_2:1

9 4
WA W AFIgE, by, > 038Ry, > 08 | 7M AR b C, g (circle) x? + y2 = 9 I gl &, 3R M, fag
(3, 0) & 1919 <ifSTY fob wn(line) x = x,, 9o C @1 R wR uferesfed (intersect) vell 8, iR @1 x = x,, 3<1 C @I

31 S ufiresfad axedl 2, Sief R @21 S & y-fAdena (y-coordinates) €IS (positive) T |
AR LROM = % AR ZSOM = g §, w1t O 7afg (origin) (0, 0) P e=far | 7 AfTg 7 | XY,

@S (line segment) XY @) o+dTE B ST |
a9 f=ferRad weM & I pIv (@) I 8 €)?

(A) P 31 Q o St arefl Yt @1 wrftaoeer (equation) 2x + 3y =3 (1++3) @

(B) P 3 Q 1 Sirsey arl) e a1 wwfteer (equation) 2x + y = 3 (1++3) &
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(C) If N, = (x,, 0), then 3|N,Q| = 2|N_S]
(D) If N, = (x,, 0), then 9N, P| =4|N R|
Ans. AC

Sol.  P=(3c0s30°,2sin30°) = [#1

Q=(3c0s60°,25in60°) = Gﬁ

Equation of line PQ

y—xf:—%[x—%j

2x+3y:3(ﬁ+1)
3
Now if N, E(Xzao)z(gaoj

343

IN,Q|=+/3 and |[N,S|= Tf
= 3IN,Q| = 2N,S|
Now if N, =(x,, 0)

:}leiﬁj()j
2

_ 1 INR|=2
=[NP =1, 1|—5

Q \R

OO

OO
o N.NM3B, 0
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8.

Ans.

Let R denote the set of all real numbers. Let f : R — R be defined by

6X+S%l’lX it x 20,
f(X): 2X +sinx

Z if x=0.
3

Then which of the following statements is (are) TRUE?

(A) The point x =0 is a point of local maxima of f

(B) The point x =0 is a point of local minima of f

(C) Number of points of local maxima of f in the interval =, 67] is 3
(D) Number of points of local minima of f in the interval [27, 47] is 1

A oliforg R 941 arafass d&amsii (real numbers) @ AT (set) 1 ST € | A9 oifoly %ot (function)
f:R—>R,

6X +sin x

5 - if x=#0,
X +sinx
f(x)=1 2"
— if x=0.
3

R ORWIAG ¢ | a9 f=forRad sl § 1 o @) 99 2 (©)?

(A) fdg x =0, f &1 U@ W Szaa¥ &l f95 (point of local maxima ) @

B) g x =0, f &1 Y& @I 519 &1 fa5, (point of local minima) © |

(C) srawtet (interval) [, 6nt] # f & I S=aad & fawgaii (points of local maxima) &1 3 W=
(D) 3icRTd (interval) 27, 4w ¥ f & T =10 @ fa=gaii (points of local minima) @ 1 S&1 2

BCD

SECTION - 3 (MAXIMUM MARKS: 24)
This section contains EIGHT (08) question stems.
The answer to each question is a NUMERICAL VALUE.
For each question, enter the correct integer corresponding to the answer using the mouse and the onscreen
virtual numeric keypad in the place designated to enter the answer.
If the numerical value has more than two decimal places, truncate/round-off the value to TWO decimal
places.

Answer to each question will be evaluated according to the following marking scheme:
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Full Marks : +41f ONLY the correct integer is entered;

Zero Marks : 0 In all other cases.

dy

0. Let y(x) be the solution of the differential equation x” A
X

Xy =X +y, X> 1 , satisfying y(1)=0.
e

2
Then the value of 2 (y(e)) 1S

@) T

. . . 1 , )
A Y y(x), 3racet aianeor (differential equation) x° j—y +Xy=x"+y’, X>—,®Idg8d (solution) ¥
X e

S y(1) =0 B AT HRAT L | T Z(Y(e))2 1AM g |

¥(e)

Ans. 0.75

Sol. Puty=vx

dy dv
—— =V+X—
dx dx

So, X’ (V+%‘VJ+X2V:X2 (1+V2)

X

xdv )
V+—+v=1+v
dx

ﬂ:1+\12—2V
dx

dv. _ rdx
J.(V—l)z _’.' X

EELENYM NG
v—1

=(n|x|+C
X—y
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y(1)=0
=C=1
Now =/nx+1
ax_y
= (nex
Xy
e 2¢’
y(e)=5&y(ez):T
, 26
200) a3 s
s y(ez) 2 4

3

23 23
10. Letaa ..., a, bereal numbers such that (1 + %x) = Z aixi for every real number x Let a_be the largest
i=0

among the numbers a, for0<j<23.

Then the value of r is

A AR P a, a,...., a,, 39 TOR &I aRide T (real numbers) € & Tl araifaes wamsii x & forg,

23 23
(H%Xj :Zaixi%mma?rmﬁsﬁwaﬁaj,03j£23,ﬁwﬁa€m@mr%|a'errav‘mﬁ 2|
i=0
Ans. 6
Sol. x=1

3

23
2
1+§ =a,+a,+a,+a;......... a,,

For N.GT.

n+l 23+1 48
X 5~

1+|— 142 7
y 2
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I1.

Ans.

Sol.

2o

So T, is the numerically Greater term.
r=6

A factory has atotal of three manufacturing units, M, M., and M, which produce bulbs independent of each
other. The units M, M,, and M, produce bulbs in the proportions of 2 : 2 : 1, respectively. It is known that
20% of the bulbs produced in the factory are defective. It is also known that, of all the bulbs produced by M,
15% are defective. Suppose that, if a randomly chosen bulb produced in the factory is found to be defective,

the probability that it was produced by M. is % i

If'abulb is chosen randomly from the bulbs produced by M., then the probability that it is defective is

Yo HRAT (factory) H et i+ f+aior geprgall (manufacturing units) M, M, 31X M. €, 571 Teh §IR 3 a5 v
%1 (independent of each other) aedll o1 Seare BRel € |gP1Al M|, M, SR M, spHeE: (respectively) 2 : 2 : 1
@ 31UTd (proportions) ¥ ged IR & | I8 T4 & fo HRE H g arel 94 gedii § 20% ded ©WRME Fderd ¢ |
I8 N 91 © {5 M, -1 a7 1 ) aedll # 15% ded ©R1a Fieperd § | 71 <N 5, afe sram 3 991 1Y
dedi H W U Argeedl (randomly) AT TN ded ERTE U1 ST €, Od -7 M, §RT 91 ST a1 Yideel

(probability) % =

Ife M, §RT 911 T gedil ¥ 31 Yep ged AT el Y1 Sl &, T g0 TR1d (eper Sl umfliepet 2|
0.3

Let total 100 bulbs Produced

= n(m,) =40, n(m,) =40, n(m,) =20

Total defective bulbs =20

Defectivebym =6

Defective by m, =x

Defective by m, = 14 —-x

P(defective bulb)=20/100

p DefectivebulbbyM, | _ 2
Defective bulb 5
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x 100 2
= — ==
100 20 5

x=8

P[ defective bulb } _ % =3/10=03

m,

12.  Consider the vectors X =1+2+3k,y=21+37+k, and Z =31+ j+2k. For two distinct positive real

number c.and B, define X = %+ By -7, Y =ay+p7—%, and Z = oz +px—y .
If the vectors X Y, and Z lie in aplane, then the value of ot+ B—3 is

afasli (vectors) X =1+27 +3k,¥ =21 +37 +k, iR Z =31+ j + 2k RRER IR |21 M= (distinct) &7
(positive real number) o 3R B & Ry, X =aX+Py -z Y=oy +pz-X, 3R Z =07 +Bx-y uRafa
FHITY | afe afeer X, Y 3R Z yo awdd (plane) W R €, a@ o+ B — 3 @19 =

Ans. -2

Sol.  %=(1,2,3),y=(2,3,1,2=(3,1,2)

A
[XYZ]=|-1a B|[XYZ]=0
B -1a
123
[X¥Z]=231|=5-2()+3(-7)#0
312
o B -1
=>-la B(=0 R, —R +R, +R,
B -1a
1 11
(a+B-D-1 a B|=0
B -la

S@+p-D(@+p+a+fF+1-apf)=0

Sa+p=lorc®+o(l-B)+p*+p+1=0
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13.

Ans.

Sol.

ForaeR"

= D20
=S{1-p)*-4)PP+B+1)=>0
=S 1+p2-2-4p*-4p-420
= -3p3*-60-32>0
S>p+2p+1<0

= P+1?2<0

= B =-1 (not possible)
Hencea+p =1

For anon-zero complex number z, let arg(z) denote the principal argument of z, with -t <arg(z) < 7. Let @

2025
be the cube root of unity for which 0 < arg(w) <m. Let a0 = arg ( Z (—(o)“] .

n=l
Then the value of 3a is
T
fopeil TR (non-zero) AfRTEIEREAT (complex number) z & forg, A o1y & arg(z), z & 7w ®IvTia (principal
argument) 1 SLITAT 8, S8l —1 < arg(z) <7 T | A IfTY fh m, Toah (unity) @198 899 (cube root) T, raa

forg 0 < arg(w) < 7t 2 | 99 <ifoTg o oczarg(mf(—@)“].

n=1

%‘la—sf3_°°fmm:r T

T
-2
+i27/3

Clearly =0 =¢

2025

(_(0) (1- (_0))2025)

1+ o
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14.

Ans.

Sol.

=29 (1+0™) =L @)= 2 =20
Q) @)

27

arg(z) =——=qo
g(z) 3
:>3—a:—2

T

Let R denote the set of all real numbers. Let f: R — R and g : R — (0, 4) be functions defined by

fix)= loge(x2 +2x+4),and g(x) =

Define the composite function /° g by (° g ) (x) =Ag(x)),

l+e

where g! is the inverse of the function g.
Then the value of the derivative of the composite function f/° g atx =2 is

A &ifoTg fs R 9t arafdss Seamati (real numbers) & TH=a3 (set) &1 SRTdT © | 714 oiifoTg fds %et (function)

f:R—>R3Rg:R—(0,4), fix)=log (x> + 2x + 4) , 3R g(x)= ER1 IRHING © | §gad Bl

1+e™
(composite function) f° g by (f°g") (x) =Ag™(x)) ERTURMING HIRTY, ST 2!, Herd g Bl U™ (inverse)
g

T X =2 W AYE B f° ¢! & 3ader (derivative) FTHE B

0.25

Let g'(x) = h(x)

— u(x)=f(h(x)) s u'(x)=f'(h(x)).h'(x)

u'(2)=1'(h(2)) h'(2)

=2=a=0

2a

h2)=a=>gla)=2=> 4
1+

u'2)=f"(0)h'(2)

[ _ 1 ! — l
f (x)_7X2+2X+4(2x+2):>f 0)= 5
and  h(g(x))=x
=h'(gx)).gx)=1 Puta=0
=h'(g(0)) g'(0)=1
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= h'(2) g'(0)=1

g(x) =41+ =) =41 +e™)? (™) (-2)

g(0)=82)*(1)=2

=u'(2)= =1/4=025

11
22

01 -+ ol s+t ol 5
sin60 sin61 sin62 sin63 sinl18 sinl119

15. Let o =

o N2
. Then the value of ( cosecl j 1S )
a

o \2
A1 AT f o= — ol. =+ — ol, St — ol, 3 ae (S0l | o am
sin60 sin61 sin62 sin63 sin118 sinl119 o
2 |
Ans. 3
. sin(61'=60") sin(63 -62") sin (119" -118")
So. (a)snl=———+—-+———"— 4 . - — :
sin60 sin61  sin63 sin 62 sin118 sinl119
=(cot 60°—cot 61°)+ (cot 62°—cot 63°) +........... + (cot 118°—cot 119°)
119°=180°-61° = cot 119°=—cot 61°
= (cot 60°+cot 119°) + (—cot 118°+ cot 117°)+ ............. + (cot 118°—cot 119°)
cot 60°
o= -
sinl10

RSH (COS@CIO sin1°j2 =3
cot 60°

> tan'x ,
16. Ifa:j.%mdx,thenthevalue of ﬁtan(%:;ﬁ] is .

(Here, the inverse trigonometric function tan™ x assumes values in (— g , gj )
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B tan™ x 207
ﬁa—imd 8, /7 ta ( - JEF[H'FT g

(T2, ufrer rarorfida wer (inverse trigonometric function) tan™ x @ A (— g ) gj qE 1)

Ans. 21
Sol. 1292x*—3x+2 P y

S 1 -1
tan” | — || — |dy B
2 Yy 2 cot (y)dy
o= =

2
2 %_§+2 2 2y* —3y+2
y 'y
=20 = Z(ZC/AQQZE.lIZd—X
122x% —3x+2 4 242 2_3_X+1
2
T (2 dx

sl rold)

=5 (e ()
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20;\/7 — tan"! [%j 4 tan™! [%j

tan[zaﬁj_ 6/NT _6INT 5

n | 1-5/7 2/7

Ans. 21
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